HONORS PRECALCULUS SUMMER PACKET
THE WOODLANDS HIGH SCHOOL

Precalculus Honors is an advanced math course comprised of advanced Algebra and trigonometry. The
goal of this course is to prepare students for AP Calculus - AB and BC. Success in honors Precalculus
requires a mastery of previously-taught Algebra skills. The following summer packet is designed to
provide review and practice for critical Algebra skills that were taught in previous math courses and are
prevalent throughout Precalculus. Some of these topics will be briefly reviewed in class as we move
through the first nine weeks, and the content in this packet will be assessed during the first nine weeks.

When completing the packet, be sure to show all of your work. If you use a separate piece of paper, be
sure to number each question. If you are struggling with the content, seek help from a friend, parent, or
go to YouTube or Khan Academy and search for the specific topics. There are many great resources and
aids out there. There will be some opportunities to ask questions during the first couple of weeks of
school.

This packet should be completed without a calculator. Avoid the temptation to use Photomath or other
math apps. Although using such aids will make completing the packet easier, they will cause you to
struggle throughout your precalculus experience, which could potentially impact the math courses you
are prepared for in the future.

We look forward to a great school year!



Honors Precalculus Summer Packet - Algebra Review

Algebra Review #1 - Factoring - Factor completely.
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Algebra Review #2 - Solving Equations/Inequalities - Solve.
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Algebra Review #3 - Rational Expressions & Complex Fractions - Simplify completely.
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Algebra Review #4 - Quadratics & Imaginary Numbers

Simplify completely.
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Solve using square roots 4(x—7) —6=74

Solve using quadratic formula 3x*+4x—-8=0

Solve by completing the square 3x*—12x =—4



Algebra Review #5 - Writing Equations of Lines

Write the equation of each line given the slope and a point or given two points. Write your equation in
the form indicated.

Slope-Intercept Form: y=mx+b
Standard Form: Ax+ By =C (no fractions, x is listed first and is positive)
General Form: Ax+ By—C =0 (no fractions, x is listed first and is positive)

Point-Slope Form: y—y, :m(x—xl)

63.  Slope-intercept form 64. Standard form
m=§;pt (-3,-4) m=—4; pt (6, -8)

65.  General form 66.  Standard form
(-3,-3)and (2, 1) m = undefined; pt (3, -5)

67.  Slope-intercept form 68.  Standard form
m=0;(2,9) (1,-4) and (-2, 6)

69.  Write the equation of the line, in slope-intercept form, that passes through (-2, 3) and is parallel to
4x—-y=3.

70.  Write the equation of the line, in standard form, that passes through (-1, -4) and is perpendicular
to y=2x+5.
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Write the equation of the line, in slope-intercept form, given that f(-5)=—4 and f(0)=11.

Write the equation of the line, in general form, given that f(-1)=2 and f(3)=—4.

Write the equation of the line that is perpendicular to y =-2 and passes through the point (-6, 2).

Write the equation of the line, in general form, given that f (—5)

Write the equation of the line perpendicular to the y-axis.

—2 and f(-3)

8.



